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30,000
4,500
10,500
—EYCO00lE g H ArE K& 15,000,000& » 14! 15,000
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[
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=
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m
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0
0x
>
1)
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2AM: ot
=E'F A S (SN S/ - 4E)
=E MalE KR T
SN Y. S(S) - NEAY - BES Aroy e 2t
& 15,000
—AHSHPAHE 30,000, 000& =14 30,000
=1 20,000
& 3,000
= 7,000
—HSZEM e 40,000,000& =14 40,000
& 30,000
= 3,000
= 7,000
—3LHe B2 35,000, 000& 14 35,000
= 20,000
& 4,500
= 10,500
-5 & 0HE K& 15,000, 0003 * 14! 15,000
& 10,000
= 1,500
= 3,500
402 QI2ERt= 01 & 170,000 170,000
& 120,000
= 15,000
= 35,000
01 2I2HRE2E X 170,000 170,000
O SSIAHAL 170,000
— AQFAN BT R LS M RF 60,000, 000& =14 60,000
& 40,000
= 6,000
= 14,000
—EHMAN HEANE S 60,000, 000& =14 60,000
= 50,000
& 3,000




Ahed = X 3t
ALY 24 (=8l =
Yots MAD|e X CERE
_ & E
A HA(ZH) - ALY - BAS 4kod 'Oﬂﬁﬁ Hwsz2
s 7,000
— AL 50,000, 000& =14 50,000
=1 30,000
= 6,000
= 14,000
SMoI2X2 25,390 132,120 A 106,730
= 12,460
& 3,879
= 9,051
SHOIBHISXR 17,390 92,120 AT4,730
= 8,460
= 2,679
= 6,251
402 QIZ2tXHE0l A 17,390 92,120 AT4,730
= 8,460
= 2,679
= 6,251
01 QX2 e 17,390 92,120 AT4,730
O=HEX 17,390
—g23s 3,290,000 »1CH 3,290
= 1,410
& 564
= 1,316
— 3= 4,700,000& *3CH 14,100
= 7,050
< 2,115
= 4,935
YA H B R 2 8,000 40,000 232,000
2 4,000
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A
X ZH -
=1

el

SA B SA(BH) - MEAY - BES

Off &+ o4

afE
0l &t

H

1,200
2,800

405 Xt &tH =l

MW

8,000
4,000
1,200
2,800

40,000

A 32,000

8,000, 000& = 1CH

Mol

8,000
8,000
8,000

4,000
1,200
2,800

40,000

A 32,000

g
0x
ng
O
o
%

02
4>
[P
1
Q
rx
i

HoH o H

5,740,894
660,356
1,765,021
490,435
2,825,082

4,373,968

1,366,926

>
oy
oy

r

02
Y

@
o
o

HoH o K

5,740,894
660,356
1,765,021
490,435
2,825,082

4,373,968

1,366,926

LAE 2L L 22l (XHA)

Jon

91,750

262,180

A170,430

101 Q124 4|

37,100

68,890

A 31,790

38,8803 x1E 200
38,8803 x 1«37

37,100
10,506
7,776
1,439

68,890

A31,790

_23_




SN M ETD
HE: MEEY BASHSEHSSL/YY - ME)
Sl MEAY JlBiaE CERED
= = & E
2EA-EFH-A(SA) - NRAY - BES Oi &4 ‘Oﬂ‘&ﬁ Hus2
— 42 8 9,215, 0002 *14% 1,291
OMEH%E RIZEXQ QA 26,594
-J=3 38,8802 *5% 1002 19,440
- FE+Y 38,8802 *5% +202 3,888
— 42 23,328,000 *14% 3,266
201 Y2 Y| 18,000 69,300 A51,300
01 At 22l Y| 1,200 15,000 £13,800
OMHZ2Y ANPSE Y (SASIL 103) 50,0002 +122 600
OSUZAHME MREE PY(SAENS 35) 50,0002 +128 600
02 B2 YHI 16,800 54,300 A37,500
OMEl% ®IIR3 1,000,000 +122 12,000
OS2 SHHMH #1223 400,0002! 128 4,800
206 TH 2 1,650 1,650 0
01 X2l 1,650 1,650 0
OMEl% ME28 St 7 3,3002 %500 1,650
401 Al & HI L 2 THBI 35,000 92,300 A57,300
01 Al 35,000 92,300 A57,300
OMEHZE SMHAE 2= 3,0002 5,000 15,000
OFge MEMEIS 22 SN B2 20,000,000 *17H 20,000
S M A K| ALY 50,920 50,920 0
402 RI2H X 0| 50,920 50,920 0
02 91 2HCH & AL b 50,920 50,920 0
OBUS STYH A & 26,8002 *1,900ha 50,920
NYESANETY U Bl 41,964 83,850 ~41,886
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SN M ETD
HE: MEEY BASHSEHSSL/YY - ME)
Sl MEAY JlBiaE (B9 @2
= = & E
2EA-EFH-A(SA) - NRAY - BES Oi &4 ‘Oﬂ,‘qﬁ Hus2
= 25,178
= 5,037
2 11,749
101 21 21b| 40,964 80,850 £39,886
2 25,178
= 5,07
2 10,749
04 JIAH2ZRER 40,964 80,850 239,886
CETEIN 40,964
—BYY HHEIH2Y) 13,488, 00021 +2 26,976
2 16,785
= 3,358
2 6,833
—=MEf2ele(1y) 13,988,000 *1H 13,988
2 8,393
& 1,679
2 3,916
301 YPB A 1,000 3,000 A2,000
10 HALAHIZ & 3 1,000 3,000 A 2,000
SETCEIN 1,000
— B2 HHAI BROHI(2) 1,000,000 1,000
TAA 485,745 1,212,127 A726,382
z 340,021
= 72,862
2 72,862
101 @1 24b| 14,600 14,600 0
z 10,920
= 2,340
2 1,340
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SM: MY =X
A MEPY B (SYHYLL/YY - ME
Sl MEAY JlBiaE CEERED
= = & E
2EA-EFH-A(SA) - NRAY - BES Oi &4 ‘Oﬂ,‘qﬁ Hus2
04JIAH22RSES 14,600 14,600 0
OZ =33 A 14,600
-y e(ey) 7,300,000% *2% 14,600
z 10,920
= 2,340
z 1,340
301 YPB A 1,000 1,000 0
TE T ERE 1,000 1,000 0
OZ =33 Al 1,000
—gc@ay DY (2Y) 1,000,000 1,000
401 AlEHIZ 28I 470,145 1,196,527 AT26,382
=l 329,101
= 70,522
2 70,522
01 Al &I 458,821 1,166,007 A707,186
OZ =33 Al 458,821
— AT AE AAEN(1.0kn) 223,539,000 *4.08% 9,121
—YEPEINE A AL A (1.0kn) 66,619,000 *5.59% 3,725
— A= 24 A AIE A (10km) 45,000,000& *5.98% 2,691
— melele AAIAH(1.0kn) 134,987, 00021 4. 47% 6,034
— QS A& (1.0kn) 208,203, 0002 208,203
3 156,477
= 33,531
2 18,195
— 2 E AN (1.0kn) 62,294, 0002 62,294
3 46,633
= 9,993
z 5,668
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A M=
A NYUAY BASH(SHHYEL/YY - ME
el MY JlaE (o9& @
SN ZE - BR(AA) - MRAY - B2 0l &t e RS2
— 2S5 2 (10km) 41,823,000& 41,823
= 31,500
= 6,750
o 3,573
— &A= (1.0km) 124,930,000& 124,930
= 94,491
S 20,248
= 10, 191
02 Zeltl 7,656 21,781 A 14,125
OZE3AHAMY 7,656
— L AE(1.0km) 223,539,000 *2.06% 4,605
— =T (1.0km) 134,987,000& *2.26% 3,051
03 AlZ = CHHI 3,668 8,739 A5,071
OZE3 AN 3,668
— Y& A A (1.0km) 223,539,000& *0.72% 1,610
— Y E P EOHE(1.0km) 66,619,000& *0.90% 600
— & & 4= (10km) 45,000,000& *1.08% 486
— AT (1.0km) 134,987,000& *0.72% ar2
AF 2 KK off ol 2 217,742 159,881 57,861
308 A XIEHH SOl & 217,742 159,881 57,861
05 MXEHAESES 217,742 159,881 57,861
O3t M 217,742
— APHE (7OH ) 151,520,000& 151,520
— &KX EH (Tha) 7,290,000 7,290
— AR E T AL (3km) 51,570,000& 51,570
— At e (500 &) 3,150,000 3,150
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SN ME =R
B NYURY BHSH(SHUNS /LY - ME)
Sl AEEY JlBES CEERE
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
— APEPARSS EFErA ZOHBH2) 1,059,000 1,059
— AR B (150 4) 284,0002 284
— AP Y EFZ TN L) 2,471,0002 2,471
— At E B (100 A) 3980002 398
2 MAXIA 20,000 20,014 A4
2 10,000
= 3,000
2 7,000
401 A EHIL2THYI 20,000 0 20,000
2 10,000
= 3,000
2 7,000
01 Al &t 20,000 0 20,000
O2HIZEAL 20,000
—gme R AlS X (10kn) 2,000, 000! *10kn 20,000
2 10,000
= 3,000
2 7,000
MEE ZH(2X) 1,350,000 1,300,000 50,000
2 675,000
= 202,000
2 473,000
401 N EHIL 2 THYI 1,350,000 1,300,000 50,000
2 675,000
= 202,000
2 473,000
01 Al &t 1,345, 140 1,295,320 49,820
OBSs AL 1,345, 140
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SN ME =R
B NYURY BHSH(SHUNS /LY - ME)
Sl AEEY JlBES CEEEED
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
— e EE L (1hL) 1,345, 140,000 » 1 = 1,345, 140
2 675,000
= 202,000
2 468,140
03 Al& =2 Thbl 4,860 4,680 180
OBSs AL 4,860
—MEEEL(1hL) 1,350,000, 0002 0.36% 4,860
AHEIH -4 E N ALY 41,963 69,875 ~27,912
2 25,178
= 5,036
@ 11,749
101 @1214] 41,463 68,375 726,912
2 25,178
= 5,036
2 11,249
04JIAH2ZRNSL+ 41,463 68,375 726,912
ORI B E AL 41,463
—MESHWUN(1Z) 13,488,000 * 12 13,488
2 8,393
= 1,679
> 3,416
—SUMB T T AH(2E) 3,987, 5002 x2% 27,975
2 16,785
& 3,357
2 7,833
301 YA S 500 1,500 21,000
10 BAAHI 2 &3 500 1,500 A1,000
ORI BEAL 500
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A M=
B A4YAY B (SYASSM/LY - ME)
ol AEEY JIuE S EEE-T)
SN ZE - BR(AA) - MRAY - B2 0l &t e RS2
—MERIUUM REHHI(1H) 500,000 500
LA 2el 44,113 84,113 A 40,000
401 AIEHIZ 20 44,113 84,113 A 40,000
01 Al &4l 44,113 84,113 A 40,000
OZZANE 22+ SHIIl ALY 1,764,520 «25km 44,113
Y= R (EHS Atbt) 1,389,197 0 1,389,197
401 Al HIZ S THHI 1,389,197 0 1,389,197
01 Al &€ H 1,353,434 0 1,353,434
O=HIEZ A (EHS"4&tHt" ZHIREE) 1,353,434
— AR =SSP ALY 2720 (B S"4&HHE" 2 HIREE) 1,353,434
- QFo| SAHIXI S AHALEH 5,239,000& » 14 5,239
A= SHHXI7 &FAHEH 29,724,000 * 14! 29,724
78 AKX 2 LHALEH 29,814,000& 14! 29,814
otol A I X7 AHAHEH 5,420,000& » 14 5,420
Sd s X7 AHALEH 39,168,000& 14! 39, 168
otol &= XI5 AFAHEH 9,755,000 =141 9,755
== TSI 7 AHALEH 135,176,000 = 14! 135,176
S8 sZ X7 AHALEH 23,512,000& =14 23,512
Or& & F X7 AHAHEH 5,600,000& 14! 5,600
=S SMII 3 AHALEH 13,007,000 = 14! 13,007
=58 &3X 7 AHALEH 33,398,000 * 14! 33,398
oto| AIOHXI 51 AFALEH 127,748,000 = 14! 127,748
=5 SAXF AHALEH 57,405,000& = 14! 57,405
oto] =S X+ AFALEH 12,013,000 = 14! 12,013
=& Otw X7 AHALEH 10,840,000 = 14! 10,840




A AHE S0
B A4YAY B (SYASSM/LY - ME)
el MY JlaE (o9& @
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
S& SA&X T AFALEH 6,774,000 14 6,774
Ord 21X+ AFALEH 40,835,000& * 14 40,835
OF& R L2X 7 AFALEH 5,509,000& =14 5,509
orol =& 1K+ AFALEH 41,207 ,000& * 14 41,207
oto] T 2Kl 7 AFAHEH 209,855,000 =14l 209, 855
to] S & 3Kl AFALEH 181,117,000 = 14! 181,117
OFol ZA2KI 7 AFALEH 130,672,000 14 130,672
& S 1K AHALEH 17,238,000 *14] 17,238
e = 2K 7 AHALEH 16,079,000% 14! 16,079
Orol &KXl AFALEH 45,212,000 * 14 45,212
Orol = =2X 7 AFAHEH 59,443,000& =14 59,443
Orol 23X AFAHEH 61,674,000& =14l 61,674
03 Al &= CHHI 35,763 0 35,763
O=HIEZ AL 35,763
— APALER ol E R ARY 2724 (BN S &tbt) 15,548,872,000& *0.23% 35,763
=8 = =4 300,000 0 300,000
& 150,000
& 45,000
= 105,000
401 Al&HI 2 2 0H I 300,000 0 300,000
& 150,000
= 45,000
= 105,000
01 Al & HI 300,000 0 300,000
OZS3AHAL 300,000
—Xs2 = ZEAE JlE & AL 300,000, 000& =14l 300,000
= 150,000




Iz

0¥ QU QU

oy oY N

02 08 =
jo
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fl
T 0x

o for
o o

S

v
%
02
1>
rx

0o
11
=z
B

= = & E
2A -2 - (3H) - NEANY - BES Off &+ o4 ‘Oﬂ,‘qﬁ Z

& 45,000
= 105,000

SHEYE - 2 MEHA =4 1,000,000 1,000,000
2 500,000
= 150,000
= 350,000

401 AIEHIZL S THHI 1,000,000 1,000,000
= 500,000
= 150,000
= 350,000

01 Al &4l 1,000,000 1,000,000
OZE3AHAMY 1,000,000
—MEHME - 2SMESRNLE Jl= & AAEH 1,000,000,000& » 14| 1,000,000
= 500,000
S 150,000
= 350,000

SHESMEdE =4 107,500 107,500
= 100,000
= 7,500

401 Al HIZ S I 107,500 107,500
2 100,000
& 7,500

01 Al £l 107,500 107,500
OZE3AHAMY 107,500
—SHESHMEE ZdAd JI2 & ZAEH 107,500,000 * 14! 107,500
= 100,000
= 7,500

NNeldhh s 28 (sS44I 3) 600,000 600,000
= 600,000
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SN ME =R
B NYURY BHSH(SHUNS /LY - ME)
el MRPY DB S CEERE
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
401 A ZHIL 2T 600,000 0 600,000
2 600,000
01 Al &t 596,343 0 596,343
ORI BE AL 596,343
—IEHY ZHAY AAED 600,000, 00021 *3.27% 19,620
2 19,620
—tE%2 THAY 576,723,000 * 1) £ 576,723
2 576,723
03 Al& =2 Thbl 3,657 0 3,657
SETEEIN 3,657
—tEH2 ZHAY 580,380, 0002 *0.63% 3,657
2 3,657
ME| - BPWOR AME MYTH(SYHLSA/LY - ME) 6,128,679 6,003,754 124,925
2 2,332,505
2 137,800
= 650,514
= 3,007,860
sEgls gYyns)l 2,219,233 1,892,301 326,932
2 195,648
2 137,800
= 128,664
2 1,757,121
NYBSAY BHEH(XH) 29,781 29,080 751
101 @1214] 11,081 10,630 451
YPIENEEV LTS 11,081 10,630 451
% HEIH MY 11,081
-J1=3 38,8802 x22 * 1002 7,776
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SM: MY =X
M ME| - BAUNOZ AXE MBTH(SYMYSL/LY - ME
ool AEgls BYRSD) CEERED
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
—Fa+g 38,8802 x2 % 252 1,944
— AU 9,720,000 *14% 1,361
201 LBt bl 600 300 300
01 Ak 2relt] 600 300 300
Oz &I Mx7Y 150,000 2% 300
O% &t m=yl 50,0002 *2% x3% 300
301 YutE A3 15,200 15,200 0
10 #AAIH 2 A2 4,200 4,200 0
Oz &I Msns 600,0002 *2 *13] 1,200
OdZ 2SN M2DS 300,0002 * 1024 *13] 3,000
12 B2 4 3 11,000 11,000 0
Oatglyl I8t ZDQl A8 20,0002 *100% 2,000
OMSHNDIT 243 100,000 ¥30% 3,000
OMEIH Ba3 6,000,000% * 14} 6,000
303 T A2 2,900 2,900 0
01 a3 2,900 2,900 0
OMEYR SU 22I2 E& 2,900
—xH2s 1,000,000 %174 2 1,000
-2 500, 0002 *2JH A 1,000
- 300, 0002 *30H A 900
A0 2aH(RA) 1,178,569 898,879 279,690
101 21248 1,157,269 872,979 284,290
04JIAHZRIER % 1,157,269 872,979 284,290
OMSTAA ALY 1,157,269
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2N ME =X
Mo ME - BANOR AMB MUZXMH(SNLSA/AY - ME)
el M Rls BrOS T =EERT
SN -EB .S (SH) - MEAY - BAS ofl A2 e HZ=2
—-J|l23 38,880 x121H x182! 856,216
— =54 38,880& x 1215 33! 165,248
—4HEE 1,011,464 ,000& *14% 141,605
—X&Y 50,000& x 12 x7& 4,200
201 B2 | 18,300 22,900 A 4,600
01 At 22l 8l 18,300 22,300 A 4,000
ONEXA 42 B (SH) 50,000& *1000H 5,000
ONZEXA Egs Y 500,000 *20H 1,000
OjtExy A M (=2d) 5,000& *1,0000H 5,000
Ot XA &S M= 1,000& *1,0000H4 1,000
O«Za A 22X S Al 7,000& x5% *180&! 6,300
203 P R=&H| 3,000 3,000 0
03 Al =X QR F=XH| 3,000 3,000 0
OnENgY g8 3,000,000& 3,000
ArE0 e 23 368,644 438,977 AT70,333
= 147,458
& 65,646
= 155,540
101 212 8] 351,656 421,988 ANT70,332
= 140,663
= 62,588
= 148,405
04 JI2tH 22 XANSE S 351,656 421,988 AT0,332
O=ZHIBX ALY 351,656
— MBS YRS (50H) 315,000,000& 315,000
= 126,000
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SA A
I ME -
ol At

mrre >

N
b
|0
Hu
e
pal
re
=
o
FA
0x
O
i
%
rx
Z
o
Q
[P
]

MET

SA B .G (3H) - HEAY - B2 ul Ofl & o

=z
12

401 Al EHIZ ST b 9,000 20,000 A 11,000

01 Al £l 9,000 20,000 A 11,000
Ot 2 AIFtN 2t Z oI 3,000,000 394 £ 9,000

S8 2 MEEHIS SHst 292,967 385,015 N 92,048
48,190
21,686
223,001

Mo

201 L Et2g | 73,175 47,800 25,375
29,270
13,172
30,733

Il
r

MW

01 At 2teltl 58,225 32,850 25,375
O3t MY 58,225

— 422 S Z241H(860Y ) 4,300,000& 4,300
1,720
774
1,806
—MEMZISH 2R =(60Y) 24,000,000 24,000
9,600
4,320
10,080
— G235 ESH(230Y) 4,600,000& 4,600
1,840
828
1,932
— &S EE AR (2502 ) 1,125,000& 1,125
450

203
472

F

Mo A MO W A

Mo
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SN ST
M MR BANOR AME MBIMH(SHLSM/ALY - ME
ol AEQlE BHYBISD) (crel: &2
= = & E
BAH -3 -H2A(3H) - MEMY - BHAS Ofl At oH ‘Oﬂ,‘qﬁ Hlw &2+
—NEHEESAY UxH(54) 20,000,000 20,000
= 8,000
= 3,600
2 8,400
—UEHEBESHY YRR FHI(54) 4,200,0002 4,200
= 1,680
= 756
= 1,764
02 B2 Y| 14,950 14,950 0
OZHIE X AL 14,950
— AN BHAALY SAH(11500) 14,950,000% 14,950
= 5,980
= 2,691
2 6,279
308 XX £+l S 01 & 172,492 157,215 15,277
05 RtXIEHH 22 &2 172,492 157,215 15,277
OEHIEZAY 167,250
— EOIURH(1H) 167,250, 00024 167,250
CELI=EIN- 5,242
— M2 DEUBI(123]) 5,242,0002 5,242
401 A &6 L 20| 10,000 10,000 0
= 4,000
= 1,800
2 4,200
01 Al &t 10,000 10,000 0
02412 E AL 10,000
— 20NN RX24S(20) 10,000,000 10,000
= 4,000
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rx
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[P
]

MET

SA - EB - HA(BH) - NRAY - HES o Slatel

=z
12

1,800
4,200

H

405 TtatE =4I 37,300 170,000 A132,700
14,920
6,714
15,666

MW

F =4l 37,300 170,000 A 132,700
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—=OLHME HE (L) 189,684,000& 189,684
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03 AIE =2 0HHI 2,019 511 1,508
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—AEMHIA S&2FHI(2.4km) 71,347,000 0.9% 643
—=ZOHMEH AZ(1HL) 191,060, 000& *0.72% 1,376
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= 131,568
S 28,187
= 128,435
234 22l (MA) 15,000 17,000 A2,000
401 AIEHIZ 2 0H I 15,000 17,000 A 2,000
01 Al &l 15,000 17,000 A2,000
OtzANE &= 2,000,000 *5J1 2 10,000
OEXA EXAS 1,000,000 *5J4 A 5,000
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= 60,022
= 15,329
= 36,693
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34,100,000
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M ME=X
HE: ME - BENOE AME ML (Y /A - A=
Chel s AP AR S (St m )
= = & E
BAH -3 -H2A(3H) - MEMY - BHAS Oi &4 'Oﬂ,'qﬁ Hlw &2+
201 L Er2 3| 8,663 18,150 A9Q,487
= 5,198
= 1,040
= 2,425
01 At 22l Hl 8,663 18,150 NQ,487
O3tz AMd 8,663
—guExTEE 2UHI(5Y) 8,663,000 8,663
= 5,198
= 1,040
= 2,425
301 et A Z 2,000 6,000 A 4,000
= 2,000
10 #ALAHIE & 2 2,000 6,000 A 4,000
O3HE2=Md 2,000
—gUExdEE NSEH(Y) 2,000,000 2,000
= 2,000
401 Al HIZ S THHI 3,044,313 3,229,691 A 185,378
= 1,694,620
& 383,896
= 965,797
01 Al & HI 2,988,777 3,174,192 A 185,415
O3HE=AMd 2,988,777
—=Jt3RI| A A& A(2,300ha) 3,044,313,000& *2.9% 88,286
— =R A (2,300ha) 2,900,491,000& 2,900,491
= 1,694,620
& 383,896
= 821,975
02 2feltl 45,056 46,738 N 1,682
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O=HIEZ AL 45,056
— =JIRIIAF 22l (2,300ha) 3,044,313,000& *1.48% 45,056
03 AIE =2 0HHI 10,480 8,761 1,719
O=HIEZ AL 10,480
— = IR I AH (2,300ha) 2,910,971,000& *0.36% 10,480
402 QI2EXH201 M 162,538 206, 106 AN 43,568
= 90,298
= 21,672
= 50,568
01 QI E2E X 162,538 206, 106 AN 43,568
O=HIEZ AL 162,538
— X8 X AFE 22l (200ha) 162,538,000& 162,538
= 90,298
= 21,672
= 50,568
BHEH2 2 SAFSE R 2,910 2,910 0
= 2,910
301 LB A Z 2,910 2,910 0
= 2,910
12 JEt2 &3 2,910 2,910 0
O=HEZT ALY 2,910
— WSt BESAIY AS2tAE(20ha) 2,910,000& 2,910
= 2,910
MYEZEA DBt S 300,000 0 300,000
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= 50,000
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01 Al &t 300,000 0 300,000
O2HEEAY 300,000
—EBFH ASRME AP JI2 L AAEH 300,000,000 * 14! 300,000
= 150,000
= 75,000
2 75,000
NYSEIIE HE(2LTT/BY) 99,000 219,930 £120,930
NEPE 99,000 219,930 A 120,930
ZQSMR HHIAY 99,000 219,930 A120,930
201 YEr2 | 5,000 0 5,000
01 Ak 2r2lt] 5,000 0 5,000
OS2 222 M= 5002 10,0002 5,000
401 A& HIL 2 O H| 94,000 219,930 £125,930
01 Al &t 94,000 218,860 £ 124,860
OXeldSa2 Fbl 5,000,000 *4km 20,000
OB SHZ 24 5,000,0002 x274 4 10,000
OoHE SXB% 2,000,000 1074 A 20,000
OSH&z B4 2 ZHII(SH) 4,000,00020 %117 £ 44,000
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JlEZ 86,556 89,076 A2,520
Jl 23l 86,556 89,076 A2,520
201 LEr2 Al 43,926 43,926 0
01 At 2teltl 43,926 43,926 0
OFRNBN 1,831,000& x21Z 38,451
ogxzs 1,800
—SIEE A 150,000& x1CH» 123 1,800
O= &l 3,675
— S20al bl 7,000 »21F »25¢ 3,675
202 04 1l 38,430 40,950 A2,520
01 2 LA YI 38,430 40,950 A2,520
OZ LAYl 90,000 x21F x 123 22,680
O&2 o bl 75,0003 x218 «10 15,750
203 g =&l 4,200 4,200 0
04 EM2IHRFTH 4,200 4,200 0
ORN2EIR2FEHI 350,000& «12& 4,200

_47_




